
SAP ABAP table TWSSOBW {Close the Loop Extensions}

TWSSOBW

TURNMETH [CHAR (16)]

TURNSTEP [NUMC (3)]

STOCMETH [CHAR (16)]

STOCSTEP [NUMC (3)]

TMCW_AA_METH

MANDT [CLNT (3)]

AA_APP [CHAR (3)]

AA_METH [CHAR (16)]

 TWSSOBW-STOCMETH = TMCW_AA_METH-AA_METH 
0..N

0..N  TWSSOBW-TURNMETH = TMCW_AA_METH-AA_METH 0..N

0..N

TMCW_AA_METH_DAT

MANDT [CLNT (3)]

AA_APP [CHAR (3)]

AA_METH [CHAR (16)]

STEP [NUMC (3)]

 TWSSOBW-STOCSTEP = TMCW_AA_METH_DAT-STEP 

0..N

0..N

 TWSSOBW-TURNSTEP = TMCW_AA_METH_DAT-STEP 

0..N

0..N


